Ruhewald Rheinhessische Schweiz
Bereich 1 mit (F) Feenwald und (A) Archewald
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=
G B
P

=

o o

@m
Bm G

B
Heo Bm

@
. w® @
& P@n Gmg, B
©n
G

=2
B

o @ o Ba,
S V0, Gug
@n -

@

=9
@

&g
Gs ¢

@ @ @m

o s
e
fogery "
5

@

S B e

O B
@ G B
B Gun &

B e
Dn

G

Gen
@

&
o %

=
G

G
&

B" B o
om
o

am

- fo]
" Gw g cm B,

o

o=

™

G o g

B G Gm
@
o

Bua

@on

Do

Hoe
Bon

G &=

B

= G
S O

o
5 Bgu

B
St

- o

@ (ol

o

Hw

om O gm

B

o

@ G B &=

@

o

@

@m

ol

Zum Bereich 2

Eingang
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FuBweg zum Bereich 2
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